
1.

69 ÷ 4  = 

2.

88 ÷ 3 =

3.

65 ÷ 6 =

4.

79 ÷ 7 =

5.

65 ÷ 5 =

6.

94 ÷ 10 =

7.

76 ÷ 9 =

8.

71 ÷ 2 =

9.

94 ÷ 3 =

10.

77 ÷ 8 =

Dividing 2-Digits by 1-Digit Numbers  
with Remainders

Print out the sheets onto card and cut out the shapes. Fold the shapes in half and glue the 
halves together to make circular discs with a calculation on one side and a QR code on the 
other. Complete the calculations and then check the answer by scanning the QR code.
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11.

59 ÷ 4 =

12.

69 ÷ 6 =

13.

97 ÷ 8 =

14.

81 ÷ 7 =

15.

62 ÷ 5 =

16.

70 ÷ 12 =

17.

93 ÷ 11 =

18.

 77 ÷ 3 =

19.

64 ÷ 7 =

20.

91 ÷ 12 =

Dividing 2-Digit Numbers by 1-Digit 
Numbers without Remainders
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Dividing 2-Digits by 1-Digit Numbers 
without Remainders Answers

1.	 69 ÷ 4  = 17r1

2.	 88 ÷ 3 = 29r1

3.	 65 ÷ 6 = 10r5

4.	 79 ÷ 7 = 11r2

5.	 64 ÷ 5 = 12r4

6.	 94 ÷ 10 = 9r4

7.	 76 ÷ 9 = 8r4

8.	 71 ÷ 2 = 35r1

9.	 94 ÷ 3 = 31r1

10.	77 ÷ 8 = 9r5

11.	 59 ÷ 4 = 14r3

12.	69 ÷ 6 = 11r3

13.	 97 ÷ 8 = 12r1

14.	81 ÷ 7 = 11r4

15.	62 ÷ 5 = 12r2

16.	70 ÷ 12 = 5r10

17.	 93 ÷11 = 8r5

18.	77 ÷ 3 = 25r2

19.	 74 ÷ 7 = 9r1

20.	91 ÷ 12 = 7r7
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